Woman B - Advance

[ © 2 [
o Qo
Group A = £ Group B 5 g
o (= Q <C
> %) < > = o
£ =3 5 £ p 8
2 5 3 2 g g
o = 2 o G =
|Thompson Maureen |Grass Melanie C.
TT BA sQ T TT BA SQ T TT BA SQ T TT BA SQ T TT BA SQ T TT BA SQT
IFerrari Honorine I IFerrari Honorine IManser Andrea IManser Andrea
(7] (7]
7 21 12 3|8 21 15 21 112
21 18 21 21]8 13 21 19 21|&
[Thompson Maureenf 38 JGrass Melanie C. 6
[Tobler Andrea | [Jrobler Andrea 3 [Tobler Andrea 32 [Kiinger Berit | [Kinger Berit 13 [Kiinger Berit 22
(7] (7] (7] (7]
6 21 21 o 16 21 21 212 21 10 21 1908 21 12 21 218
-~ o2 o o2
21 6 6 21]& 21 4 7 158 7 21 9 213 0 21 14 18]S
[Thompson Maureenj Ferrari Honorine JGrass Melanie C. fManser Andrea I
IOmey Inge I |Omey Inge Omey Inge 53 Omey Inge ISchIosser Viola I Schlosser Viola 53 Schlosser Viola 11 Schlosser Viola
(7] (7] (7] (7] (7] (7]
7 9 7 1002 21 11 16 214 10 3 5 1008 2 2 21 212 21 5 21 150 & 3 13 21 150&
© H - © [$,] -
w IS = w 1=} =
21 21 21 21| 5 21 21 19} & 21 21 21 21f@ 24 21 3 15]° 7 21 2 21§ 21 21 10 21j @
[Thompson Maureenfl 51 Ferrari Honorine I [Tobler Andrea 56 JGrass Melanie C. JManser Andrea Klinger Berit 21
TT BA SQ TE TT BA SQ TE
@)
5 ¢ 1.Gruppe A Tobler Andrea 8  [Tobler Andrea 1. |Klinger Berit
© = (4]
=5 92 20 21 5 21]8 1 21 21 18] &
[ © [=] :
Group A S £ £ 2 2 0 21 16} 21 9 13 21]& 2 |Tobler Andrea
o = o —_ —~ ~
g © % > 2. Gruppe B Schlosser Viola
c © o E
F w —~ O
Thompson Maureen [D§ 2 1. Gruppe B JKiinger Berit 28 3. [schiosser Viola |
Ferrari Honorine 0 21 21 21 g
Tobler Andrea 3 1 16 18 § 4. IThompson Maureen I
Omey Inge 1 2. Gruppe A Thompson Maureerf
Group B
Grass Melanie C. 1
Manser Andrea 0
Klinger Berit 3
Schlosser Viola 2




